



$$y - y_{1} = m(x - x_{1})$$

$$\Rightarrow y - 3 = \frac{2}{3}(x - 7)$$

$$\Rightarrow 3(y - 3) = 2(x - 7)$$

$$\Rightarrow 3y - 9 = 2x - 14$$

$$\therefore 2x - 3y - 5 = 0$$
INTERSECTING LINES
To find out where two lines intersect, solve their equations simultaneously.
$$3x + 2y + 12 = 0 \dots (1) (\times 3)$$

$$2x - 3y - 5 = 0 \dots (2) (\times 2)$$

$$9x + 6y + 36 = 0$$

$$4x - 6y - 10 = 0$$

$$13x + 26 = 0 \Rightarrow 13x = -26 \Rightarrow x = -2$$
Substitute this value for x into Eqn. (1).
$$3(-2) + 2y + 12 = 0 \Rightarrow -6 + 2y + 12 = 0$$

$$\Rightarrow 2y + 6 = 0$$

$$\Rightarrow 2y = -6$$

$$\therefore y = -3$$
Point of intersection: (-2, -3)